Match the following:

(1)  Poligars A. Zamindars
(n) Taqavi B. Loan
(i11)  Amil C. In-charge of the district
(iv) Mugaddam D.  Village Headman
(a) i-A, i.B,1ii-C, iv-D (b) i-C,1i-B,1i1-D, 1v-A
(¢) i-D, 11-B,iii-C, iv-A (d) i-A,ii-B, i1-D, iv-C
fr=fafaa &t R
(i) Qe A. THiER
(i) B. WU/9UR
(iii)  Smfer C. Rmar vl
(iv) W®EH D. Tia Fr qfer
(a) i-A,ii.B, iii-C, iv-D (b) i-C,ii-B,iii-D, iv-A
(¢) 1-D,ii-B,iii-C, iv-A (d) i-A,1ii-B,iii-D, iv-C
LI e
Aeti <A (Poligars). €y (i)
J/ -B (Taqa\i)h} (i)
LT -C )
gru;r -D 'JJ (“ ]
i-C, ii-B, iii-D, iv-A (b) A, 1B n-C, - gsd
I-A, i1-B, §ii-D, iv-C' (d) D, G-, 10, iv-A
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Which of the following were part of the famous treaty signed between the Marathas \

and Mughals in 17197

(i) The Marathas were allowed to collect Chauth and Sardeshmukhi from all the

Mughal Subahs in Deccan.

(i)  Shahu would pay an annual tribute of ten lakh rupees to the Mughal Emperor.
(ili)  The Marathas would get the territories of Khandesh, Berar and Gondwana.

(iv)  Mughal King Rafi-ud-darajat approved the treaty.

Choose the correct answer from the given code:

(a) 1,11, only (b) 1i,ii,iv

() i, ii, iii (d) i, ii, ii, iv

fr=rfafaa & & 1719 § #wer ok gat & 7o g8 wq@ wfr @1 e ar
() wOR ® TFeT A ol g qE & A ol 'Rvge A% @ arghy
(i) g, T ARAE H 10 TG TIA B ANH HBTafer 27
(iii) @2, TR AR TiamT & #7wet & ot

(iv) WA 9IETE T IX ST A G Aol 2

(a) i, ii, dad (b) i, i, iv

(c) i, ii, il (d) i, i, iii, iv
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i, i, iv (b) S0 (a)

i, ii, iii, iv  (d) il (o)

w2

(i)  He edited Poona Sarvajanik Sabha.
(ii) He worked with Deccan Educational Society, founded by Govind Ranade.

(iii) He also served as a Member of the Indian Public Service Commission.

(iv) Mohammad Ali Jinnah wanted to be like him.

Who was he?
(a) Dada Bhai Naoroji
(b)  Gopal Krishan Gokhle
(c) Bal Gangadhar Tilak

(d) Mohan Das Karamchand Gandhi
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(i) R g R T R R
(i1) E@#ﬁf&zmmwﬁamq@mm*mmml
(ii1) =R 9T & qa AT D G B &9 § W & FHar)

(iv) wiewg et R o9 dar s+ = &)

T HA a2
(a) =rT 9 A (b) M FET MER
(¢) == TR Ras (d) W& 3@ HW T e

Sl i o ()
-u'f_FG'L.L_jtl;}:f/fgrKuft:‘/vyf‘::?-fcf:i.uzﬂ Gii)
Wb e PG P 216 Gid)

£z et Auiteds (v

Té‘_u,fu
LS ) Gsddbh  (a)
Su€ez /sy (d) LEAH (o)

4. Which of the following statements are true?
()  The first Indian Factories Act of 1881 prohibited child labour below the age
of seven.
(i)  The second Factories Act of 1891 fixed the minimum age for employment at
nine.
(ii1)  The first factories Act 1881 provided a weekly holiday for all workers.

(iv) The factory Act 1911 limited the working hours of children to seven and
women to eleven.

(a) 1,1 (b) i,ii,iv

(c) i, 11,11l (d) All of the above are correct
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fr=fafaa & a9 $av @d &2 TR IS
(1) v Wi FraEr Sfafaw, 1881 & 7 9 & FH AY B AT T W

gfose @ Rar @

(i) fadm g srEmr aftfa, 1891 F A & fg =g g 9 ad
Frafita #x <

(iii) wuw 9Rd s sttty 1881 4 o sftel @ fog aafts sEww
ye o

(iv) wrEmr sty 1911 § s=6t & fog 7 &2 ofk wfeemsd & fog 11 @2 &
| 7 @t |

(a) i, i (b) i, ii, iv

(¢) i,ii,iii (c) ¥t

e GO P
B mpsdutlnfe Joaliekiy Bl L1gs1 ()
SIS SRL U180 L1y 2 onine (i)
SIS T L mppii1881e L1y B4 (i)
SN LIt ELL Rl ugi1omeLiz 8 ()
iv, ii,i (b) id (a)

Senarl s (d) i, i1 (o)
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5. Read the following statements carefully and choose the correct answer from the
given codes.
(i)  The Satvahanas started the practice of donating land without fiscal and ‘
administrative immunities to Brahmanas and Buddhist monks.
(i) The Satvahanas started the practice of donating land with fiscal and
administrative immunities to Brahmanas and Buddhist monks.
(i11)) The Guptas gave land grants to priest, temples and royal officers.

(iv) The Guptas did not give administrative rights along with land grants.

(a) i, iii, iv (b) i, ii, iii
(c) i, iii only (d) i,iii only
& /Tl B gRa

(1) grae 3 ser ok A% fept @ By ok ek g 3 e i
T S B TAT IE A

(i) wraaet ¥ s R A fnel & Refin o i @ & aw
HfiEH H H WA gE A

(1) et & gonfXal, Wi ok e sftmat & 9fy sgem R

(iv) Tt ¥ wfy em @ " gematE sfen T8 R

(a) i, iii, iv (b) i, ii, iii

-----

(c) ii,1iionly (d) 1i,1i1only
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-V

_“Lf{,,;-(b’b’;..;fulf"w};g,,luupfum;:,i:u&JLustf (iii)

S0P Yoo F AL e L L3 (iv)

iii, ii,i (b) iv, iii,ii  (a)

SAii, i (d) A i (€)

6.  Read the following statements carefully.

(i)  There are an infinite number of souls in the universe, all fundamentally equal.
(i)  The annihilation (nirjala) of Karma comes aboutthrough penance.

(iii) The world functions only according to universal law.

(iv) The universe functions through the interaction of living souls and five

non-living entities.

Which of the above statements regarding Jainism are correct?
(a) i, ii, il (b) i, iii, iv

) i, ii, iv (d) i, ii, iii, iv
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Pr=fafas Fad ) SAFAES 9eT-
(i)  wmve & oa ge o aremt €, off Aifws w1 & F9E
(i1) & @1 A (Rrfen) quen & er 8
(ii)) figa daw qrEdfe FFE 3 ATAR F FHar
(iv) wams A sremel IR T selifaa & woF Sr=afhaT & J@ar 8
(a) i, i, iii (b) i, iii, iv
(c) il 1v (d) i, ii, iii, iv
R AE e s
-—L},?LJL-..CC_-J;‘UJ"L%..,_-/uuj’)ﬂr‘:lﬂ..»ﬁUJu:’uu:@gK ()
e b sl e S G
-‘;.‘SJSJLUSIEJU’KL:: (i)
;.J"l?u’eT.L’.ugsu.xlg,éég;,luﬁm;@..Jl%’.:-..t:fbf (iv)

Bk I L _ci®

iv, iii, il (b) i, ii, i (a)
iv, iii, ii, i (d) v, i, i ()

7. Match the following:

(i)  Diwani-i-Insha A. Deptt. Of Intelligence

(ii) Diwan-i-Band B. Deptt. Of State Correspondence

(i)  Ariz-i-Mamalik C. Religious matters

(iv) Diwan-i-Risalat D. Military Deptt.

(a) i-A,1i-B, i11-C,iv-D (b) i-B,ii-A, iii-C, iv-D

(c) i-B,ii-A,i-D,iv-C (d) i-D,ii-A,iii-C,iv-B
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fr=fafes &t g

(1)  da-g-g=gm A. @ftean fam
(1) &ar-g-adz B. g wmar fvm
(111) sRer-T-qarfers C. efifs o=
(1v) Sar-u-Rarea D. &= fsmm
@) i-A, ii-B, iii-C, iv-D (b) i-B, ii-A, iii-C, iv-D
(c) 1-B,11-A,111-D, iv-C (d) 1-D,1i-A, 111-C, 1v-B
L I 5
(Deppt. oflntelligence)‘f:éi»‘? <A Gy ()
( (Deppt. of State Correspondence ) F¥=.345 _B szl (i)
(Religiousmatters)f&rlwi < Jl/’gﬁrl (iii)
(Military Deptt.)£¥% 9 -D =gty (iv)
i-B, ii-A, iii-C, iv-D  (b) I-A, ii-B, iii-C, iv-D  (a)
i-D, ii-A, iii-C, iv-B  (d) i-B, ii-A, iii-D, iv-C  (¢)
8. Concerning the Pradhan Mantri Ujjwala Yojna, consider the followng statements:

(1) It aims to safeguard the health of women and children by providing them
with clean cooking fuel.

(2)  The connections will be provided to only BPL families identified through
Socio-Economic Caste Census Data.

Which of the statements givenabove is/are correct?

(a) 1only (b) 2only
(¢) Bothl and?2 (d) Neither | nor 2
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o SerEe e d 93 Pefaiaa - |
(1) @ Ry @ R B e @ o ITaer FUHt A R T
W & W FET
(2) wrnfr-sfid SRY ST @ oriel A AW & YA AT TG by oy

gRart &t & a' A Rar o
SUET HU ¥ §é FUA HeEr 3%
(@) @@ (b) Ja 2
(©) 1 &k 2 A (d) =i &

gt o et gzt 2
_/_‘/(7f,iur",q_m’i_@/31_5ufuig_;,sw‘}’cfgs’u?;ﬁ,rufﬁb’m (1)

dﬁ.:u.iﬁSocio-Economic CastCensus Datac)__% JJuf-j':(uﬂ,{ BPLcﬂdﬁé’ (2)

=
IS~ (b) IS5~ (a)
bpnenlbr s (d) L1y (o)

Due to the covid-19 lockdown, the capacity utilization inthe economy decreased.
Consider the following statements:

(i)  Capital output ratio will increase in the cconomy.

(i)  Per unit cost of production will increase.

Select the correct answer using the code given below:

(a) (i)only (b) (ii) only
(c) Both(i) & (ii) (d) Neither (i) nor (ii)
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FIfA=-19 ATHERT B FROT Jdemawn ¥ aFar Iga & A A ¥y
frafafaa Faat w e &t

(1) orefereear & yoft Swmesr AU &g

(1) ufy gfe Swmea wrme o) |

(a) aaw (1) (b) @am (ii)
(c) (1) afx (i1) 2 (d) ® =&

e Tt St iofete i SU19-5
_(_)_":u?:{_':.atl_.“)_i.guﬂ
N7 - 7 AP )

_Jngab.':f”lJ#g&&blﬁ (ii)

—Gi) (b) 70  (a)
Lzl (d) Isllyse (¢

10. Choose the false statementamong the following statements:

(a) Consumer Price Index (CPI) is the index of prices of a given basket of
commodities that are bought by the representative consumer.

(b) The weights of representative goods are constant in GDP Deflator, but they
differ according to the production level of each good in CPL.

(¢) The index for wholesale prices is called the Wholesale Price Index (WPI); in
the USA, it is referred to as the Producer Price Index (PP1)

(d) CPI includes prices of goods consumed by the representative consumer;
hence it includes prices of imported goods, GDP deflator does not include

prices of imported goods.
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(@) anite g goEs TS @ A ARG B AAE T GIHS A g, |
TevF g @fer S R

™ & & @ R & AR aeel =1 9w Rew @ 2 sy CPI 4 4
UNE T B IARH @D JIER QA B

) i e @ e # o g g e E sRE F @

T ga&® (PPl) & &1 & 97 oimar 2

(d) |t omé F ofeffr Swie are swi @ T T 2 dE v ¢

T T SAS TR B B i F oA D R F o
TR A A R T A ¥

_g//._,l'ﬁ‘..'lb/(Jlfhka.ub...tL-JJ__»ﬂ
els 2958 s i vyc.f»'K_AJd/yfd)J wfn/r//y/ (a)

Ly ./...L, 's‘#J-ﬁ’JuidLL ‘LJ‘W‘UJJ{ULL’:#VJ/JW)QU)J (b)

-
o2 L_f,_f-"-’}';fl{__f Flire. lu’-‘.'.l-:/l-c"_ t'kl.;fu)':ilﬁ:ﬁf.@fgfgilé ,_-;gJ_._._,;,)c‘,{_f (¢)

-

q-..\_,"'JLJDA L4 Jd L‘U (d)
o J:'{L}V-'-""‘f J’o E/IJA i.nu':( Dclllltur)o,w;t‘éu’ H

™

._afv r' 4IAJU1& Mg JVJJQLV»/'LWI

& -V
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Il. Many times, we read about "Circuit Breakers" in share markets. They are temporary

measures that halt the trading on which of the following occasion?

(a)  On special days
(b)  When a new share is traded for the first time.

()  When the prices of a particular stock rise or fall by a specified amount in a

specified time.

(d)  When trading of a particular stock rises beyond a specified volume.

FF I T IO IO § “HiPe I & IR 7 Tod &1 T ol Syw ¥ o
Fr=fafea & /@ @ smavemad W =AMR &t Jaad &7
(a) fow R w

(b) ¥ Yl SN fHdt T AR FT FREAR B B

() v & Ry =% #tf I & Fide/fifteg g & w Affes ofr @
et ar gdr 1

(d) = fFf e = &1 =R & i qEr & aftes & s 2
uu‘ﬁ/.:,,a;—:;51,»,;;;,:3‘_5.-.-.,Llﬁfu"itm_u_fzf.:;u:a__/géuxﬁz&"/(?ui’:/.ﬂﬁw(
-l s
LUl @)
LSt Tidics )
GG e AL RS A (O
Lic fr e dniBe 5SS (D)
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12.  Fiscal consolidation is one of the objectives of India's economic policy.

Which of the following would help in fiscal consolidation?

L increasing taxes
2. getting more loans
3. reducing subsidies

Select the correct answer using the codes given below-

(@) 1and?2only (b) 1and3 only
(¢)  2and3only (d 1,2and3
TR FHT WA A i Ny & s2vdl § @ w B
= 7 & @ v wleT ¥ weg wme

(1) A &1 qgr

(2) s wor By

(3) ufewd &7 Fw

e faweq?

(@ 13R2 (b) 13K 3

(c) 23Rs3 (d 1,23 s

?fgﬁiu:ri%ldtu/a_gus,?m_‘auﬁc_u:yuuéu’:' &d)LﬁlJL?:krt{%"lJyL
L-w.u’? (D

ey (2)

LS (3
LSRR B LML o

LalLi (b) nfids (a)
Lokl (d) Lande (o)
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13.  Which one of the following is not correct about Bonds?”
(a) Bond is a debt instrument -
(b) Bondholders are creditors -
(c)  Bondholders have management rights of the company
(d) Bondholders have a preferential claim on assets of the issuer over equity

holders.

sy @ ar ¥ fFre=fafea & @r wf 78 & 2

(a) FRY TH WO 9= B

(b) dfE g AR B B |

(¢) diE URE B IH A B YT AHR T

(d) s aRE &1 At F wal W I s Gl & oift gt ¥

S o\ S AL ik Ve L 500
_.»‘-_,JT..'.:-.-J..QL?:I_. (a)

Ut ISPl (b)
_UgJ’bJ?dw;"-tgj%‘?wﬂx}g (c)

B hF el Ll Sl uiin iy (d)

14. Consider the following.
I.  Investmentby a foreign firm to establish a subsidiary
2. Investmentin shares throughstock exchange
Which of these are included in FDI?
(a) Only|l (b) Only?2
(¢) Bothl and?2 (d) Neither | nor 2

5-22 (SET-A) (17)



frafafes w fam &

L OF gerd w0 @ g Rt e @ e

2. Wit tFaw @ AW d 9w F R
SET & @ # FDI ¥ qnftrer 22

(a) BIF 1 (b) Had 2

(©) 13K 2 (d) g TE

ZJf{J/LZL?J.CJ
..ijK,:L/é.ii.)?ﬁ’ub'&i.—gc--‘f'lgd/r/.dr/:; (n
_djgglfu:w&éjiéé‘fﬁd/&f (2)

UJEU TS ge iy
247 (b) 14~ (a)
f/»."_{l; (d) JJJﬂa-gu;')J (c)

15. Which one of the following is not correctly matched?
(a)  Stand-up India: Financeto SC/ST and women entrepreneurs
(b)  InvestIndia: Investor facilitation initiative of government and FICCI
(c)  Start-up India: Finance to young entrepreneurs,

(d)  Shram Suvidha Portal: Information about labour inspections.

Frefafaa & & @ a1 ser a8 78

(a) V=-3q 3T : T W/TE & ok wfear wufr 2 et

(b) T R TH M ey (FICCI) 2y frawrs
e v

(c) W®rR-AY e : a1 Ut @t wryg

(d) =% glawr gid 9 et @ s
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_QLUL:I}J;LME/MJJ‘JJ:' .k:‘bl"r_."l’:"-‘-':" (a)

A SUs Bl K FICCLsle P Lile291 (b)
SEL Lzt Lottt (c)

QLPJ;,LL%A : jf{b’{!’i’/& (d)
16. Consider the following about the Pradhan Mantri Kisan Samman Nidhi
(PM-KISAN).
1. Coversall the farmers including landless farmers and sharecroppers.
2. Anincome supportof rupees 6000 per year is provided to the farmers in three
| equal installments of rupees 2000 at an interval of every four months.

3. Itisa Central Sector scheme with 100 per cent funding from Government of
India.

Which of these statements are correct?

(@ land2 (b) land3

(c) 2and3 (d 1,2and3

o W e e Rl (PM-KISAN) & 53 frffiae @e aia-

1. gftda fraet ol seert wfea ot et ®t @ @ B

9. framl @ & 91 TR @ A=A W 2000 T H dF A bl § iy
W 6000 TIX PN AT WeEAT Y& &l I & |

3. WRA @R ¥ 100% @ werd < F5 &7 & Qo

Il § 1 w7

(a) 132 (b) 133

(c) 23 (d) 1,233
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It

—c....f wlmlr_....w._}ﬂ.-» "J"-rj_.f-;'dq':d,'f’/: (3)

‘e Aol
341 (b) 2.1 (a)
3.2 (d) 243 (¢)

17 Which of the following are reasons for a low Tax-GDP ratio in India?

[ 2% ]

3
4

Low per capita income.
A variety of tax exemptions
Unorganised sector and cash economy

High amount of subsidies

Which of these are correct?

(a)
(c)

1,2 and 3 (b) 1and4
2and 3 (d) All ofthe above

WA ® FA G G S B BB D IRV F Preaferfa § @ o @ b

(1)
(2)
(3)
‘4)
fﬁ)

(c)

7 yfa =l smg
F0 ¥4 fafe= yor & g2
FEfea & R THg refeyaw

ve ufy d afesd
1, 2 3T 38 (b) 1 3t 4
2 o 3 (d) 1,2 3 3 4
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S e Ui S srir st L LT ;-GDPJ?H'
Pyl (D)

SN LSE-F )

..u“-:”‘.f?::'f-cfb 7 1)

oM (4)
e é‘ Ufuﬁ J_ BT
4.1 (b) 32,1 (a)
dﬁ]lgnﬂa (d) uf-ul 2 (o)
18. From the given list, identify missilesfitted in Rafale:
1. METEOR -

2. AMRAAM
3 HAMMER

4. EXOCET

Code:

(a) 1,3and4 (b) 1,2&3

(c) 1&2only (d 1,2,3and4

frafafag & @ oa d fhe 89 At PraEal #t g9 S |
(1) HiR (METEOR)

2) s (AMRAAM)

3) ¥ (HAMMAR)

(4) uade (EXOCET)

(a) 1,8 3 4 (b) 1,238
(c) 13MT2 (d) 1,2 8 3R 4
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METEOR
AMRAAM
HAMMER

EXOCET

3,2 1 (b) 4 sl 3 <l

4432 (d) 213/

19.  With reference to Bt-Cotton, the incorrect statement is:

(a)
(b)
(c)
(d)

Bt-Cotton is pest-resistant and herbicide tolerant
It offers pest-resistant against only Bollworms & white fly pest

It was introduced in India by Monsanto-Mahyco Biotech Ltd.

All are incorrect

Bt- @tz (Bt-Cotton) & T=Y & Toa &y &

(a)
(b)
(c)
(d)

Bt-wfeT #ie wfodiedt ok et wesfier &
a5 3w daa o T By A F Ao ek ¥
Iqdtad qdt T #)

S-22 (SET-A) (22)
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(i)
(i1)
(iii)
(iv)
378
(a)

(c)




ek s d_12L Bt-Cotton

_g.c.:f..;ll;ffl,(‘/;nl._*ﬁf"ﬁ;..bd Bt- Cotton  (a)

WL Fly pest abnlehfic et 2t ziy  (b)

_._l_.'/..:'; b>J_Monsanto-Mahyco Biotech Ltd. U< Cased st (o)

..u_mh_/é../ (d)

20. The Asia African Growth Corridor is about:
1.  Promoting Quality infrastructuré
2. Connectivity within Asia and Africa.
3.  Promoting defence collaboration
Code:
(@ 1&3 (b) 2&3
(c) 1&2 d 1,2&3
R sneiET fasm HiER & TR 4-
1. T O §EREEE gl A F
2. R AR I & iR HAfeRiad
3. T GEAIT & qQIET &

ITET F T qh B2
(a) 133 (b) 2 3 3
(c) 132 d 1,233
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e .u:l: ;)C»";/:‘ig /'l‘l;gp
EsMAPPE Gy
_bgljty_fl.._f..il_/."u',@-' (ii)

&S Gii)

v
3.2 (b) 341 (a)
302 L1 (d) 2 s (o)

21.  Concerning Blockchain technology, the correct statement(s) is/are:
1. Itis employed in SUPERCERT Programme to authenticate educationa|
documents.
2. Once an information is enteredinto a block, it cannot be altered.

Blockchain technology is the basis of cryptocurrencies like Ripple, NXT.

Code:
(a) 1&2 (b) 1&3
(c) 3only (d) None

=@ ¥ (Block chain) dsmamft & 93 wé waw &

1. mmﬂﬂﬁmmﬁﬁﬁqw&mmﬁ%ﬁmﬁgﬂd
(SUPERCERT) wrur # far mar 2

9. U%F AR fHdl g B & «F F SO B T I qgAT TG

3. @A dwmerh Ruw, o www & (NXT) ey et

HIe:
(a) 13T 2 (b) 1 3T 3
(c) 3 (d) =ré e
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_g_rﬁdkz"éj_ﬂzf.lgan.«s/JF[..:,i:_:,L'r'-JdPu:rl/:,;SUPERCERT, (i)
S d TSIl Lt S G
_«:—}..L*ZJ(NXT)JU*:*‘.:,W*Jéu’*/:_%/d,'u?ﬁ_m iii)

3
3.1 (b) 251 (a)
ety (@ 3 (o)

22. Regarding Carbon Capture and Storage, thecorrect statement(s)is/are:
1.  Carbon dioxide iscaptured by usinga liquid ammoniasolution.

2. The captured Carbon dioxide is pumped into coal rocks and Ocean water.

Code:
(a) lonly (b) 2only
(c) 1&2 (d) None

FrdT & e AR TSR & 43w HaA 82
|, T TEAEERES B TR A W IEiEr 9 & e &) ¥

9. T SIEHEETEE W FIEW 2 GLEEI A WK B et ¥ v Rear omer ¥
FiE:

(a 1 (b) 2
() 132 (d) & Tl
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23.  Choose the correct statements from the given code.,

1. Telecommunication satellites are placed in polar orbit.

2.  Remote Sensing Satellites work by using reflected electromagnetic radiatjon,
Code:

(@ 1only (b) 2only

) 1&2 (d) None

G-

#E:
(@ 1 (b) 2
() 13R2

(d) =¥
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24. Consider the following pairs

(1) Tropical Moist Deciduous Sal

(2) Tropical Evergreen forest Mahogany

(3) Mangroves Rhizophora

(4) Chir Alpine

Identify the correct answer

(3 1,2and3 (b) 2,3and 4

(¢c) 1,2and4 (d 1,2,3and4

Prafafea 13

(1) vomfeaddy @ quiarwd L

(2) o1 HeTy FEEER I WA &

(8) #® TAWR e

(4) 3 g (Alpine)

8 W3 7

(@ 1,23 (b) 2, 8, 4

) 1,24 d 1,234
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2,3,4 (b) L2,3 ()
1,2,3,4 (d) 1,2,4 ()

25.  Consider the following statements:

I.  Hindukush - Himalayan region is called as a third pole of the world

2. Peninsular plateau hard rocks have lesser groundwater recharging capacity
than Great Indian Plains.

3. Western disturbances are only experienced in the winter season over nortt
India.

4. Coral Reef is found both in Andaman, Nicobar and Lakshadweep Islands.

Identify the correct answer

(a) 2and3 b 1,2,4

() 2and4 () 1,2,3and4
S-22 (SET-A) (28)
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(a) 23RS ®) 1,24

(c) 234 d 1,28, 4

‘bl ) s20s

e b B 2K a- S (D)

&KKJJMJ.EU?‘JJL}&LCJU:LU'*[:u;lkdlgdt?:ﬂg):u;kg(!}?‘)}’ub (3]

. o
e tn LS pD AL e Y (3)
_.‘c.rlgggtﬁg;:z.,.;»@:bp?ul.ﬁlu}u..exd;f (4)
4,21 (b) 352 (a)

4 ,3,2,1 (d) 452 ()

Which one of the Island nations of Africa is nearest to India?

(a)
(c)

Cape Verde (b) Mauritius
Seychelles (d) Madagascar
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27.  Consider the following provinces of China:
1. Tibet
2. Xinjiang
Which of thesc share/shares the boundary with Jammu Kashmir?
(@ Onlyl (b) Only2

(c) Both1and?2 (d) Neither | nor 2

mm%mﬁﬁmfﬁﬁﬁmwwﬁmt?

1. fem

2. ffmr

FE:

@ 1 (b) 2

(c) 132 d) ¢
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28. Consider the following:

1.  Rapid urbanization 2. Deforestation -

3.  Heavy Sand Mining. 4. Micro-irrigation

Which of these are the cause of increasing ground water depletion and flood?
@@ 1,2,3,4 () 1,2

e L35 d 1,2,4

frafafas § & B Yo @ @ §F AR TG F/B BT §?

1. o9 el

2. Al Ht Ferd

8. Wi @ aE

4. g furg

HIE:

(@) 1,28 4 (b) 1,2
(c) 1,28 (d 1,2 4
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1,2 (b) 1,2,3,4 (a)
1,24 £{d) 1,2,3 (c)
29.  Which of the following countries do not share a boundary with each other:
(a) [srael-Egypt (b) Greece-Turkey
(c) '1'urkmenistan—Tajikistan (d) Indonesia—Malaysia
ﬁfﬁfﬁf@ﬁ%ﬁﬂ#aﬁwwiﬂiﬁ?ﬂwmﬁm ?
(a) waUEw - frg
(b) e - g
() gEafwE - Fofram
(d) w=ARmEr - Tfmr
('&Uﬁ’c—é_/ubgm‘f._ﬁ:_ cj/u’.’dj...yﬂ
7l RNty () L @
Bk (521 (d) el t gz (o)
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10, Consider the following pairs regarding states, U Ts and their parts

Those share boundary with each other.

l. Dadra Nagar Haveli Daman & Diu

. Odisha lelangana

3. Uttar Pradesh - I limachal Pradesh
4. Maharashtra - Chhattisgarh

In which of the pairs given above states/UTs/region share boundary with each other
is/are correctly matched?

(a) land2 (b) Only3

(¢) 3and4 (d) 1,2,3and 4

Prefofaa Towaw= it & i @ F@ F 2 F 9 wh € oo

1. TR A B - AT 49

2.  TEET - AT

3. TN Wy - fewew WW

4. WO - BNTETg

FE:
(@) 132 (b) 3
(c) 8 a4 (d) 1,28, 4
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31.  Consider the following pairs regarding diseases

Discases
i. Ebola
v i Zika China

3 Spanish flu

4, Swine flu

rOr o W T }

. = ik ie] ",!’,",.,’L; p I Y]
" |- - - - L g U_ >
l_.. R il ,l'__,\,‘.__\_, v

..J_'_?/‘i:':
w1
..JC-'){Fl
y

2 ]

4 s 3

Main affected region/countries

Western and Central Africa

Columbia and Venezuela

Mexico and USA

Which of the pairs given above is/are correctly matched?

(a) Onlyl (b)

(c) 1,3and4 (d)

S-22 (SET-A) (34)
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(a) 1
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32.  Considerthe following:

1. Warm water in Eastern pacific

(3]

Cold Tibetan plateau surface
3. High pressure near Madagascar region
4 South westerly jet flowing strongly over North India

Which of these conditions is/are favourable for South-West Monsoon?

(a) Only3 (b) 1and2
(¢) 2and3 (d) 2,3and4
Y-

1. qdf ywnid wemrER § T gt

2. f=<lt vor &Y 3 waE

3. HIFTE & & UI§ = @9

4. IR 9RE A aer afiwdt de & a9 |
I § B gRoRaRed T @ g sEge ® 2
(@) 3 (b) 1,2

(c) 2,38 (d) 2 8,4

AT

Qe ftfsSs

CAEE @

Ayl E Lt ()
gsead M ade (@)
*?u_g.—_gf.:,uu.;b’;uiéurwdf.__.;e;.;ﬂu'

1,2 (b) 3
21 3; 4 (d) 2 3 (‘ )
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33. Consider the following statements regarding the Himalayas:

I; These are one of the most vulnerable and ecologically sensitive regions of
the world.
2. Its height is no longer increasing as there is no more Tethys Sea between the

Indian Plate and the Eurasian Plate.
; There is no recent volcanic eruption despite being at destructive boundaries.
4. Keeda Jadi, a type of fungus is grown in the alpine region of Himalaya.

Which of these statements is/are correct?

(a) 2and3 (b) land 4
(¢c) 1,3and4 (d) 2.3and4
R & I3 HEA-

1. 7 Rya & Y gdeasia oiR wafaein waada & & & &)

9.  wad SuE oW g T W ¢ Ry W we A R @ @ @
a2 a7 B

3. Ry del WA @ qaug o & ¥ Hi senet fRewe T8 g
2l

4. aﬁmaﬁﬁmwwtwﬁﬁrﬁmﬁwﬂwﬁmm%u

SqUET ¥ |El HUA?

(a) 2,38 (b) 1,4

(c) 1,84 (d) 2, 8,64
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24, Consider the following statements
1. Climate change is forcing monsoon behaviour by decreasing the number of

rainy days in India during South-West Monsoon as per the recent findings of

IPCC report.

2. El Nino phenomena disturb the Weather of the Tropical region and the
Temperate region.

Which of these is/are correct?

(a) Onlyl (b) Only2

(c) Both!l and?2 (d) Neither 1 nor2
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(a) 1 (b)y 2

(c) 132 (d) +g TE

qEN WP SR
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35. Consider the following statements regarding air pollution:
1.  Ground Ozone is an example of a secondary pollutant.
2 Ozone is a strong oxidizing agent that badly affects the humadungs,
3. Ozone concentration increases rapidly during the winter season.
4 Ground ozone is also called as photochemical pollutant.
(a) land2 (b) 1,2and3
(c) 1,2and4 (d) 2,3and 4
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F@T

3.  |f¥dl § s ) gEAar ao & wgdt B

4. TET AN B B fwa-ygEs W FET AT 2

I § AT g FaA R2
(@ 132 (b) 1,2 3 3
() 1,23 4 (d) 2,8 3R 4

?Q_r;.u/atygé.zééﬁgﬁﬁ

e JELE G TSI Es (D

e b LAt Wine A1 E A Tt (2)
—ebene Sl (3)

gL SIS W& (@)

1,2,3 (b) 1,2 (a)

2,3,4 (d) 1,2,4 (o)

36. Which act provided theright to vote women?
(a) Indian Councils Act, 1909
(b) Governmentof India Act, 1919
(¢) Govermnmentof India Act, 1935

(d) IndianIndependence Act, 1947
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fra afaf g ¥ afkerst ) saew &1 st Rare
(a) W gReg sfafaas 1909

(b) WRA @R Aafmw 1919
() WRA G@R AfafAaw 1935
(d) H9RAT @a=ar A as 1947

The ..*.-'.('u/:fb"e_:..’..”!;';;f

19192£ Lec=r® (b) 19092£ 149 % (a)
19472 £ 18505736z (d) 19350.f Lirer® (o)

37. The concept of citizenship involves the concept of.
(a)  Ethnicity (b) Liberty

(c) Rights (d) Duties

AT @ FqUReT & e §7

(a) A/ (b) w@@=TT
(c) ftrsr (d) A
-';r‘;V?LiJ:‘fJ;-;\;.:‘é
Si1i7 (b) Jat 4@
(@) NI )
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38.  Which of the following statementsregarding yoga is not correct ?
(a) 'Yama'in Yoga means restraining herself/himself from immoral activities.
(b) 'Dharana' is concerned with concentration.
(c) 'Pratyahara'is concerned with the withdrawal of the senses.

(d) 'Samadhi' is an observance, which refers to the cultivation of values and

virtues in life.
/@ 3 Freafafaa wa=-
(a) ATH ‘W w7 qd g H Jfow affARa & A 2
(b) ‘GRET & HET THRET A ¥

(c) ‘YR & a9 34l & TAER & |
(d) ‘wfRr F SrEReT & oY ofaw F wwit o e @ e 2
‘e Gt et i FFe Y
Wi dy §B1 AP I Sy (D
Sl AFK " (b)
S e ©

e slpe KU SR e e LG ()
39. Consider the following statements regarding the "Mother Fund' or 'Fund of Funds'
Scheme under Aatma Nirbhar Bharat:
(i) It will help in the listingof MSMEs on capital markets.
(i)  Govt. of India will purchase majority ownership in MSMEs

Sl
Select the correct answer using the code given below: ﬁ
(a) only(i) (b) only (ii)
(c) Both (i) & (ii) (d) neither (i) nor (ii)
S-22 (SET-A) (42)
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(a) 1 (b) 2

) 13R2 (d) =g &
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St e ‘U!ﬁu:ﬁl’u;&ﬂ;w (i)
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(i) (b) ) (@
WATENC) Gidot ) (o)

40. Withreference to Currency Swap Facility, consider the following statements:

1. Itis an agreement toexchange currencies with predeterminedterms.
2. The swap operations can carry exchange rates or other market risks.
3. Recently, Bangladesh - Sri lanka signed a currency swap agreement.

Which of the statements givenabove is/are correct?
(a) 2and3only (b) 2only

(¢c) 1land3only (d) 1,2and3
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SrE ¥ B a8 7

(@ 2,3 (b) 2
(0 1,3 d 1,2 3
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41. When an individual quits his/her job and decides to stay at home for a while, the
labour force participationrate: |
(a) Increases
(b)  Decreases

(c) Remains same

(d) May increase or decrease depending on the length of time hell

home.
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42,  Consider the following statements regarding the CHAMPIONS portal:
1. It is a technology-packed control room-cum-management information
system.
2. It was launched by the Ministry of HHRD.
Which of the given statement is/are correct?
(a) 1only (b) 2only
(c) Bothland2 (d) Neither 1 nor 2
CHAMPIONS 4iéq & w&iaa &9+-
1. 9% % e @ % Pserws @ gEer yeuw av g
2. T WA gaHd fawr W 4 @i fer an
Iqilad # HI G FAT TE ¥7
(a) 1 (b) 2
(c) 132 (d) g T
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43.  Which of the following statements are true regarding the term 'Force Majeure',
which was recently in the news?
(i)  Itis generally treated as a breach of contract.
(i)  Unforeseeable circumstances that prevent someone from fulfilling a contract.
(iii) Includes an Act of God or natural disasters, war or war-like situations,
epidemics, pandemics, etc.
Select the correct answer using the code given below:
(a) (i) & (iii) only (b) (ii) & (iii) only
(c) (iii)only (d) All of the above
o & g9t & ® ‘O AR F I3 FEF A & B TG DI
. g o dRX I FEEY B 9@ b ®F A AT A E

9. e yRftafaar ot fRE B ITET [ FA | AHdT ¢ |
s, zad dvax & M, TERE A€, IS A1 gE o ek, wemd w@R

i €1
Iqdad # wE T T /87
(a) 13T 3 (b)y 23R8
(c) @ad 3 (d) Suta
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e bl 2e") pameas? e s LU AL S0

—e bt it L $inSb e abee st (1)

B i S d S 2t Cid (2)

-ade b rdndee el bl b iTLoL e (3)

e bR EL I
2,3 (b) 1,3 (a)
TANC) 3 (o)
Who gave the theory of Natural Rights?
(a) Hobbes (b) Rousseau
(c) Thomas Jefferson (d) JohnLocke
Tgfos aftrerl @1 Rraia e Rar are
(a) €= (Hobbes) (b) & (Rousseau)
() o8| AHE (d) T @E (John Locke)
Lol FEIP 35
1, (b) d{-ﬁ' (a)
..J/U(Jla (d) L'f/uu'r“; (c)
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45.  The most significant playerin implementinga public policy is?

(a) Legislature (b) Courts
(c)  Pressure groups (d) Bureaucracy
R Ay anp FA & Prefofaa § ¥ ga@ oA 29 8 2
(a) e (b) TR
(c) <T@ WE (d) rhqmer
?f;_mﬁ,ﬂu/ﬂ;.gut.é_!ﬁ TJJJ.?JA"J&dlf
=/ (b) S ()
SeS (@ Py ©

46. Consider the followingstatements regarding 'Food Fortification”:
(1) Itis the addition of key vitaminsand minerals to staple food.
(2) Itis aimed at fighting malnutrition.

Choose the correct statement:

(a) Onlyl (b) Only2
(¢) Both1and2 (d) None of the above
| GEEHOr ¥ T3 U TR

1. 7E faafa ok afel @t qer W § ot Far )
9. TS ILYA FUNOT & AT &

Iqad | GE FAT B &/E?
(a) 1 (b) 2
(c) 1 3R 2 d) =¥ T8
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47. Match the following:
Naval Ships

(1) INS Vikramaditya

2) INS Aridhaman

(3) INS Chennai

(4) INSKalvari

‘e the :3;:.(9'%;;’5;’)(_,*3:‘-“‘JILL/
~e bl e JUa o el (1)
_r:'_.ty;...:.'-f'ﬁﬁ‘.“fv" (2)
‘-'?\:qu}\_r-é‘
2 (b) 1 (a)

WATENC) k;

tJ

(c)

Class
a) stealth guided-missile destroyer
b) scorpene class submarine
¢) aircraftcarrier

d) nuclear-poweredsubmarine

Choose the correctoption:

1

(a) ¢
(b) ¢
(c) a
(d) a

S-22 (SET-A)
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48. Tea best grows in Assam, Darjeeling and Jalpaiguri districts of West Bengal What

is/are the uniquenessof this region that suits this crop?
(1) Ithas awarm and humid climate.

(2) Showers are mainly concentrated in 4-5 months, i.e. June to October in any

year.

(3) Deep, fertile and well-drained soil.

(4) Rugged topography of the relief near the Himalayan foothills.

Choose the correct code.

(a) 1,2,3only (b) 1,3 only

(¢) 1,3,4only (d) Allof the above

o1 BT AR e SR AT AR MW & I 7 Faarrer Rt & far 2
=7 4=t & = Rdwad TR F 9w B garT @ fe ogw ¥ 2

1. et 3 Jerarg w o o el ¥

9. wdw a¥, TR TOT ®T § 4-5 TE &, T ¥ Ja, Diae Brefv ¥

3. el IyoTe IR el s el art R

4. fewreE Y qoEd B U Ted B FAG-WEAS WRAGR

wEr fawe 9+
(a) ®aw 1,2 8 (b) 133
(c) 1,8 4 (d) et ot
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49. Consider the following statements about 'Small Finance Bank'.

(1)

These are niche banks with the main function to perform lending activities
among weaker sections.

(2)

These are scaled-down versions of banks, with both deposit-taking and
loan-making functions.

(3)  These banks are based on the Parth Shome committee
Choose the correct options:

(@ Onlyl
() Onlyland3

on financial inclusion.

(b) Only1and?2
(d) Only2and3
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22306
2.1 (b) 1~ (a)

3.2 (d) 31 (o)
50.  Which of the following body approves the Fair and Remunerative Price (FRP) of
sugarcane?
(a) Cabinet commitiee on Economic Affairs
(b) Commission for Agricultural Costs and Prices.
(¢c) Directorate of Marketing and Inspection, Ministry of’ Agriculture

(d)  Agriculture Produce Market Commitiee
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frafafea & @ #9  @ fm @ sl g/ (FrRe) & 99 2ar 22
(a) nftfw amal # AT afafy

(b) FN s AR Fral B fg s
() "R AR Frieer Py, i wEw
(d) Y I 5 affy

e S UP e S L de oS ioiie
Fab 16 (a)

PRIz egs  (b)

A isese E KL B (O

e MMy ()

51.  What is the next number inthe given series: 2,3,4,6,7,9, 10, 129
(@ 13 (b) 15
(c) 14 (d) 16
& T sE F SE T v el
2,3,4,6,7.9,10, 127
(a 13 (b) 15
(c) 14 (d) 16
- B
2" 31 41 6‘ 7' 9. IO }2?
15 (b) 13 (a)
16 (d) 1 4 ts [
S-22 (SET-A)
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HT 1T GE T =P B ff § RIS

52. In an objective examination of 90 questions, 5 marks are alloted for every correct
answer and 2 marks are deducted for every wrong answer. After attending all the 90
questions, a studentgot a total of 387 marks.

The number of questions attempted wrong were
(a 9 (b) 18
(c) 8l (d) 36

90 Y F TH TS T A, T T IR B Ry 5w Ped € ol A
T SRR W 2 %% F O i & | ol g @ & B W S B B FA 387
s Tt 99 B ¥ b I & Toq S fedr ?

(@) 9 (b) 18

() 8l (d) 36

LlgLJ/&:}Z{.,.-'ﬁbﬁ..-{’ﬁﬂfu;?iﬁ}i;y’ﬁé‘;gﬁufugpfﬁf’-.gﬁ;:wulfgo
oL selizsbl e iy L et S 3810 S fe i 90 ALt
18 (b) 9 (a)

36 (d) 81 (¢

53. A and B have incomes in the ratio of 5:3. The expenses of A, B and C are in the

ratio 5 : 8 : 2. If C spends Rs. 2000 & B saves Rs. 700, then A's saving is:

W 3
(a) Rs. 1500 5t j%"gg (b) Rs. 1000
Q}L
(©) Rs.500 “3 v (d) Rs.2500
St == &_"L.."ﬂ
<5 P =
S-22 (SET-A) Z (55)




AR BE omgm M 5: 31 A B3I CH @l 1 I 8 : 5 : 9
2| o C 2000 T0 @ T ¥ AR B 700 YA FET B, 7 A H 1w Ry

gt ?
(@) 1500 92 (b) 1000 TIF
(c) 500 9T (d) 2500 92X

532000 C 18 : 5 2K blILC 1B, Aee 53 EK LuTS BsIA
?‘ac.?-'( =54 AL IL 53700 B
&-2,1000 (b) &1,1500  (a)

&-3,2500 (d) &3,500  (c)

54.  Which year has the same calender as that of 1970 ?
(a) 1976 (b) 1981
(c) 1990 (d) 1998

g 1970 B U HaveT g af Fr ¥?

(a) 1976 (b) 1981
() 1990 (d) 1998
‘e bt 1970 L L4F ¥ b f
1981 (b) 1976  (a)
1998 (d) 1990 ()
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If INU"is written as '101714132106', then 'PUSA’ will be written as:

(a) 1113171923052106 (b) 1715122308150122

(c) 1611210619080126 (d) 1611012621061907
I JNU’ &t ‘101714132106° for@r wimg, aa ‘PUSA’ &t Far Rran smeam?

@) 1113171923052106 (b) 1715122308150122

(©) 1611210619080126 (d) 1611012621061907
LWL PUSALEULISI T bW 101714132106 INULL WL 5
1715122308150122 (b) 1113171923052106  (a)

1611012621061907 (d) 1611210619080126 (c)

Q.56 and Q. 57 : Answer the questions based on the following pie charts-

As 40 + to 50
s51an

US/’A Countrnies {"b‘:’rj
=2 1/4 30 + 1o
40 years
Others 15%
: 3/20 Below
Europe & 30 years
UK 159y~
1/5 b

Chant- 1 Indian tourists to various regions Chart- 2- Age group of Indian toursts

(37)



9% 56 9 57 ® Y Ry 7g ¢ T F AR W I <A

ofimar 3w
T \ 50 4 | o
50%
a4
T\ 320
0 #0
1/s

uré-1: Rt st & widi wdew - 2 P

i
i

& pbles QL s = n L5756 1y

.;J/}‘LU?E«L}U’!H :2-.'-;";

56. If amongst the 'others' Australia accounted for 5% of the total Indian tourists and it

is known from Australian official records that 4.5 lakh Indian tourists visited that

country, the number of Indian tourists who are in the age range 30-40 years is:
(a) 13.5lakhs (b) 9 lakhs

(c) 18lakhs (d) 15 lakhs
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afr o B F wrefer ¥ o 4R vt w5 wfewt R ol s
2 st Rerd & wrqw gar ¥ B v adewt A w@r 45 @@ R, @ 30 @
40 af F MY TN AT v B dEw w7 o2
(a) 135 W@ (b)y 9 @@

(c) 18 SILC] (d) 15 @@

Sl el U 2 Tl adSUL Qaie St 2 L\ TR e i pn))

(;di_j:lﬂJu?_l:-L}LWRL'J/‘JJA4O ;.30.(2":.. U:.,?E;J:JU}JLUE“L:&U%H{M.S

57.

519 (b) 40135 (a)
4015 (d) §08 (o
In the context of data in the previous question, if you are also told that the number

of tourists to Europe is at least three times the number of tourists of the UK, what is

the maximum number of tourists to the UK?

(a) Three lakhs (b) Four lakhs fifty thousand

(c)  Six lakhs (d) It cannot be determined

IR QY § gdent A O, UK # wdfzsi % sem & 8 7 &, aw UK #
Tiewt &Y aftrapaw wear @4ar & ?
(a) 8 @M@ (b) 4 W@ 50 &AW

(c) 6 @@ (d) fafye T &
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P TP 1 cf.,x.'- E'-Ip:’JLIy‘{:L’!.."_ P-4 FK)zf V4 ."'M-;J ;J.r’.u,u.:’_*.-;. fu'f__;;g fi

?Jﬂd{h’-’n b0l }JH_,'F bdols

Jr 50404 (b) #13  (a)
Loyuips (@) 516 (o)

S8. Ravi and Mohit are talking, standing at the corner of a road in the evening. Their

houses are in the opposite direction. As they walk towards their houses, with their

back towards each other, Ravi'sshadow is exactly to hisleft; then which direction is

Mohit facing?
(a) North-East (b) North
(¢) South (d) East

T 3 wiftd v 9 §3% @ AR @2 Bt ad = @ ¥ e w Rwda
Rgmat F ¥1 A & ¥ 9T W A AN IO IE FQ@ 8, AR 6 TH q@El A
TE Bt 2, 79 X & vy S diF 915 @ et &) gase 6 At e R

& e @ @ ¥
(a) Tw-gd (b) TEW
(c) afdor d)

e L er AL -& eSS\ e e WL o Lierrn ot L
e tn S ALV E NSNS r 2 SIS S 1 L S S P S e (i

‘e SH gl

Jé (b) R W
J;“ (d) - (o)
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20 Ruli went to the bank at the fsp{_‘l‘d of 60 km h: while r¢1g|rn|ng for his home he

covered half ot the distance at the speed of 10 km/h. but suddenly he realized that

he was getting late, so he increased the speed and reached the home by covering

rest half of the distance at the speed of 30 km/h The av erage speed of Ruhi in the

whole length of the journey is:

(a) 24 km/h (b) 14 km/h
(¢) l6km/h (d) 10km/h
w4 60 fft/aer #t TRT & ¥ ) aww W www g arh g 10 PRz
¥ R d T B AT owee @ wm % aw AT f @ @) oo 3ex wwh

R O H AR AR ol gf s0 Aefvde @ i & @ R W wdw o
w1 # SNHT TR 4T R 2

(a) 24 Fefger (b) 14 g
(c) 16 FFdaer (d) 10 Ff/aer

e e B RE 108 T 1 L T S e S8 22 603,
& Sm T e B S2b 3 2K 3082l VL UleeSunpat S Ly
S F b L e sy S SIS

2532814 (b) S3En (D

237510 (Q) SiEle (O

60. Pointing to a girl in the photograph, Mr Amar said, "Her mother's brother is @@

only son of my mother's father." How is the girl's mother related to Amar?
(@)  Sister (b) Mother

(€) Aum (d) Either Mother or Aunt
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TS F TH TR E ORI AH! S WO TET AT H1 A A A
2 fRrar a1 THAT T 3| I AgR A A &1 o & O feew ¥2

(a) W& (b) HTAT

(c) =R (d) wraT ar g

ol nd SIS I SIL

e beFEn L g 2 dukudur”

e 28 S
Jb (b) gt ()
gbtut (@) gy (o)
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